
 

 

 

 

 

 



 

 

 

 

 

minimum, 12, 33, 3rd quartile, 50
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 log (𝑦) log (𝑥)

 log (𝑦)
1

𝑥

 
1

𝑦
log (𝑦)

 
1

𝑥
log (𝑥)

 𝑦2 𝑥2
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number of handballs

number of kicks

 number of handballs = 0.251 × number of kicks + 159.572

 number of handballs = 0.169 × 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 ℎ𝑎𝑛𝑑𝑏𝑎𝑙𝑙𝑠 + 250.61

 number of kicks = 0.159 × number of handballs + 250.61

 number of kicks = 0.251 × number of handballs + 159.572

 number of kicks = 0.136 × number of handballs + 159.572

number of handballs number of kicks

 0.370;

 0.370

 0.370

 0.137

 0.137



𝑆8
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 𝑝𝑛+1 = 1.15(𝑝𝑛 − 300), 𝑤𝑖𝑡ℎ 𝑝1 = 2,500

 𝑝𝑛+1 = 0.15(𝑝𝑛 − 300), 𝑤𝑖𝑡ℎ 𝑝1 = 2,500

 𝑝𝑛+1 = 1.15𝑝𝑛 − 300, 𝑤𝑖𝑡ℎ 𝑝1 = 2,500

 𝑝𝑛+1 = 0.85 𝑝𝑛 − 300, 𝑤𝑖𝑡ℎ 𝑝1 = 2,500

 

 

 

 

 

4

3

4

27

 

 

 

 

 

 

 

 

 

 



𝑡𝑛+1 = 𝑎𝑡𝑛 + 𝑏

5, −19, 29, −67, 125, −259

𝑎 𝑏

 𝑎 = −6, 𝑏 = −9 

 𝑎 = 2, 𝑏 = −9 

 𝑎 = −2, 𝑏 = 9 

 𝑎 = −2, 𝑏 = −9 

 𝑎 = 2, 𝑏 = 9 

 𝑎 > 1

 0 < 𝑎 < 1

 −1 < 𝑎 < 0

 𝑎 < −1

 

 𝑟

 𝑟 < 0

 0 < 𝑟 < 1, 

 0 ≤ 𝑟 ≤ 1, 
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∠𝐴𝐶𝐷

 18°

 56°

 74°

 77°

 °

295°

210°

 

 

 

 

 

18°

56° 𝐶 𝐷

𝐴

𝐵

160𝑚



𝑆35°𝐸

215°𝑇

 

 

 

 

 

 3.51 𝑘𝑚2

 5.20 𝑘𝑚2

 5.76 𝑘𝑚2

 6.13 𝑘𝑚2

 12.25 𝑘𝑚2
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𝑐𝑚2

 29𝑐𝑚2

 59 𝑐𝑚2

 60 𝑐𝑚2

 231𝑐𝑚2

 234 𝑐𝑚2

2

5

 

 

 

 

 

3𝑥 𝑐𝑚
4

3

5

3

294cm2.

 

 

 

 

 

44°



37°𝑇 𝑁12°𝑊
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𝑎. −𝑎

 

 

 

 

 

−7 −15.

 77𝑦 + 15𝑥 = −105

 15𝑦 + 77𝑥 = 105

 7𝑦 + 15𝑥 = −105

 7𝑦 + 15𝑥 = 105

 15𝑦 + 7𝑥 = −105

total cost = base ticket price + 𝑎 × (baggage weight) 

 base ticket price = $1,300    𝑎 = $20.5

 base ticket price = $1,300    𝑎 = $21.5

 base ticket price = $1,400    𝑎 = $21.5

 base ticket price = $1,400    𝑎 = $20.5

 base ticket price = $1,350    𝑎 = $21.5



𝑦 =
1

3
× 𝑥2

𝑥2

3𝑦 − 5𝑥 = 20

4𝑦 + 3𝑥 = 20

 

 

 

 (−
20

29
,

160

29
)

 𝑥 = 10
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 cost = 2,000 + 0.20 × number of ice creams sold

profit = 2000 + 0.80 × number of ice creams sold 

 cost = −2,000 + 0.20 × number of ice creams sold

profit = 2000 − 0.80 × number of ice creams sold 

 cost = 2,000 + 0.20 × number of ice creams sold

profit = −2000 + 0.80 × number of ice creams sold 

 cost = 2,000 + 0.20 × number of ice creams sold

profit = −2000 +  1.00 × number of ice creams sold 

 cost = 2,000 + 0.20 × number of ice creams sold

profit = 2000 +  1.20 × number of ice creams sold

 

 

 

 

 



1

𝑥
. 

 𝑦 = 9
4𝑥⁄

 𝑦 = 9𝑥
4⁄

 𝑦 = 4𝑥
9⁄

 𝑦 = 4
9𝑥⁄

 𝑦 = 10
4𝑥⁄

1

𝑥

y 

0 

(9,4) 
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 

 

 

 

 

 
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 𝑣 + 𝑓 = 𝑒 + 2
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[
1 3
5 2

] + [
8 7
𝑑 6

] = [
9 10
7 8

] 𝑑

 

 

 

 

 

[

4
4
4
4

]

 2 × 2

 1 × 4

 4 × 1

 4

 16

𝑁
𝐴 𝐵

𝑁 =
𝐴 𝐵

[6 8]

𝐶

𝐶 = [
0.75
0.52

]
𝐴
𝐵

𝑁𝐶

 

 

 

 

 



𝑥 𝑦

[
𝑥
𝑦]

 [
2 1
5 3

] [
𝑥
𝑦]

 [
2 1
5 3

] [
9

24
]

 [
2 5
1 3

] [
9

24
]

 [
3 −1

−5 2
] [

9
24

]

 [
−3 1
5 −2

] [
9

24
]

[
2 −2 1
1 −1 2
0 5 1

] [
𝑥
𝑦
𝑧

] = [
4
3
7

] 

 2𝑥 + 3𝑦 − 𝑧 = 4

 5𝑥 + 𝑧 = 7

 𝑧 − 3𝑦 + 𝑥 = 3

 −2𝑥 − 3𝑦 + 𝑧 = 4

 5𝑦 + 𝑧 = 7

𝑀 𝑃 𝑁

𝑀(𝑁𝑃) = [
2 9
3 5

] 𝑁

 

 

 

 

 

https://engageeducation.org.au/


 

 

𝑆1

 𝑆1 = [
250
700

]

 𝑆1 = [
250
450

]

 𝑆1 = [
450
250

]

 𝑆1 = [
700
250

]

 𝑆1 = [
700
450

]

 

 𝑇 = [
60 20
40 80

]

 𝑇 = [
0.6 0.2
0.4 0.8

]

 𝑇 = [
0.8 0.2
0.4 0.6

]

 𝑇 = [
0.4 0.2
0.6 0.8

]

 𝑇 = [
0.2 0.6
0.8 0.4

]



 𝑆𝑆 = [
233
467

]

 𝑆𝑆 = [
467
233

]

 𝑆𝑆 = [
250
450

]

 𝑆𝑆 = [
333
366

]

 𝑆𝑆 = [
133
566

]
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 𝑧 =
𝑥 − 𝑥̅

𝑠𝑥

 𝑦 = 𝑎 + 𝑏𝑥 𝑏 = 𝑟
𝑠𝑦

𝑠𝑥
𝑎 = 𝑦̅ − 𝑏𝑥̅

 residual value = actual value − predicted value

 seasonal index =
actual figure

deseasonalised figure

 𝑎 + (𝑎 + 𝑑) + ⋯ + (𝑎 + (𝑛 − 1)𝑑) =
𝑛

2
[2𝑎 + (𝑛 − 1)𝑑] =

𝑛

2
(𝑎 + 𝑙)

 𝑎 + 𝑎𝑟 + 𝑎𝑟2 + ⋯ + 𝑎𝑟𝑛−1 =
𝑎(1 − 𝑟𝑛)

1 − 𝑟
, 𝑟 ≠ 1

 𝑎 + 𝑎𝑟 + 𝑎𝑟2 + 𝑎𝑟3 + ⋯ =
𝑎

1 − 𝑟
, |𝑟| < 1

 
1

2
𝑏𝑐 sin 𝐴

 𝐴 = √𝑠(𝑠 − 𝑎)(𝑠 − 𝑏)(𝑠 − 𝑐) 𝑠 =
1

2
(𝑎 + 𝑏 + 𝑐)

 2𝜋𝑟

 𝜋𝑟2

 
4

3
𝜋𝑟3

 4𝜋𝑟2

 
1

3
𝜋𝑟2ℎ

 𝜋𝑟2ℎ

 area of base × height

 
1

3
area of base × height

 𝑐2 = 𝑎2 + 𝑏2

 
𝑎

sin 𝐴
=

𝑏

sin 𝐵
=

𝑐

sin 𝐶

 𝑐2 = 𝑎2 + 𝑏2 − 2𝑎𝑏 cos 𝐶



 𝑚 =
𝑦2 − 𝑦1

𝑥2 − 𝑥1

 𝑦 = 𝑚𝑥 + 𝑐

𝐼 =
𝑃𝑟𝑇

100

 𝐴 = 𝑃𝑅𝑛 𝑅 = 1 +
𝑟

100

 effective rate of interest ≈
2𝑛

𝑛 + 1
× flat rate

 𝑣 + 𝑓 = 𝑒 + 2

 𝐴 = [
𝑎 𝑏
𝑐 𝑑

] det 𝐴 = |
𝑎 𝑏
𝑐 𝑑

| = 𝑎𝑑 − 𝑏𝑐

 𝐴−1 =
1

det 𝐴
[

𝑑 −𝑏
−𝑐 𝑎

] det 𝐴 ≠ 0
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